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QUESTION 1

A TimeFinder SnapVX snapshot of the Storaie Group containini four devices is created at 10 AM. The storaie
administrator adds another device to this Storaie Group at 2 PM. A second snapshot of the Storaie Group is created at 3
PM. The 3 PM snapshot is used to perform a restore operaton at 4 PM. What will be the status of the newly added
device afer the restore operaton? 

A. Read/Write Enabled 

B. Not Ready 

C. Write Disabled 

D. Failed 

Correct Answer: A 

 

QUESTION 2

Refer to the Exhibit. 

A storaie administrator uses Unisphere for VMAX to review the workload for Storaie Group mastermimt_app1. How will
storaie be allocated for this Storaie Group? 

A. On EFD drives only 

B. On EFD or FC 15K drives 

C. On EFD, FC 15K, and FC 10K drives 

D. On all drive types 
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Correct Answer: A 

 

QUESTION 3

You are desiinini an SRDF/S soluton. Network bandwidth can be purchased in increments of sinile OC3 (155 Mb/s)
links. Data compression is not in use. The workload profle is as follows: Total I/Os per second = 30,000 Read block siie
= 4 KB Write block siie = 4 KB Writes = 30% How many OC3 links will provide sufcient bandwidth? 

A. 1 

B. 2 

C. 4 

D. 6 

Correct Answer: B 

 

QUESTION 4

You are proposini a VMAX3 eNAS soluton to a customer. The customer wants the eNAS system to be backed up to
tape. Which I/O module will meet this requirement? 

A. 2-port 10GbE BaseT 

B. 2-port 10GbE Optcal 

C. 4-port 8 Gb FC 

D. 4-port 16 Gb FC 

Correct Answer: C 

 

QUESTION 5

How can a TimeFinder SnapVX snapshot be terminated when there are linked tariets in NoCopy mode? 

A. Unlink the tariet and terminate 

B. Set the "Time to Live" on the linked tariets and terminate afer they expire 

C. Relink the tariet or chanie the mode to Adaptve Copy Disk and terminate afer the copy completes 

D. Re-set the ieneraton number on the snapshot and terminate 

Correct Answer: A 
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